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8. Which of these diagrams shows % ?

Which diagram comes next?

ﬁéé%\é 2
(1)5 <2>é
(3>é <4)ﬁi ()

10. The clock shows the time now. In 2 hours' time, it will be

(1) 3 o'clock (2) 4 o'clock
(3) 5o'clock (4) 6 0o'clock ( )
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11.

12.

13.

14.

Put 15 eggs in 3 cartons. There will be
in 1 carton.

(1) 3 (2) 4
) 5 4) 6
[: — 25 = 25

(1) 70 (2) 60
(38) 50 (4) 40

What is the missing number?

(1)
(3) 64 (4) 65

(1) 60 (2) 65
@) 75 (4) 80

NN

eggs
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15. 86:16+D
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7 girls share 14 biscuits. Each gets
biscuits.

17. Colour % of this diagram.

N
ZAAN

18. Rearrange these numbers starting from the smallest.

ONORONO

18 73—D=69
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20. a) The number after 72 is

b)  The number 64 is just before

21. What are the missing numbers?

a) b)
B .

22. Draw the clock hands to show half past 4.

23. How much money is there?

a) b)
[
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24.

25.

26.

9tens — 2tens = ones
a) 59 = tens ones
b) 90 = tens ones

Put 20 marbles into 4 bags.

POOOD® OOOOD
POOO® OOOOOD®

Each bag has marbles.
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27,
] J 3 bananas
2

How much does Matt pay for 6 bananas and 8 apples?





image10.png
28. 6 girls share 18 hair clips. How many will each get?
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29. |If Callin starts her walk at 7 o'clock in the morning and
walks for 2— hours, at what time does she finish her walk?
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30. There are 96 students in a bus. 45 are girls. How many
are boys?
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Choose the correct answer and write its number in the
brackets.

1. Which diagram shows % ?

(1) é @) %
oI E e A

2. The clock shows

(1) 11.55 (2) 12 o’clock
(3) almost 12 o’clock (4) 11 o’clock (
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Thisshows

‘00@00

(3) 28 (4)
57 — 30 = [:]

(1 17 (2)
(8 37 (4)

Ninety-four is the word for

(1) 49 (2)
(3) 94 (4)

27

27
47

19
92

(

)

Divide 8 boats into 2 groups. How many boats are there

in each group?

SRR e
D LD B

(1 5 )
3 3 (4)

How many 20¢ make $1?

(1)

4 (@)
(3) 6

(4)

2
4

&)
7





Chooss the corect answer and wrts s numbor i the
Bracune.

1. Winich dagram shows 7
oA e Q@
| 0

D

o nes @ 12osox
@ amoutzodon () modex  (

2. Thadockshows



